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(BOD) (BHL mg/L)
FRHTIEH = . BE BRETEEE ERARR (FE)

K B % BREERE w0 | mELED | 19 ] 20 | 21 | 2 | B
£ A& N )E 5T B AN AB45 1.0 1.1 0.9 1.2 1.2
F AN QR N @ = B B AB45 1.3 1.4 1.2 1.5 1.6
¥ Ot &g A B oAq AB45 0.9 0.8 0.7 1.0 1.0
Il TR (D& X B oAq FB45 (F22) 1.2 1.1 1.1 1.0 0.9
HEITHOQ|= Bl B oAq B45 (FE7, F22) 1.3 1.4 1.4 1.4 1.2
Be )i £ () [H ] B A4 | #B45(B52, T22) 1.0 1.0 1.2 1.2 0.5
eI E & Q= % X B oAq RB45 (AB52, F7) 1.0 1.1 1.2 1.2 0.8
eIl T OE[E )l B A4 B45 (FE7, F22) 1.4 1.3 1.5 1.5 1.0
P A i B AD AR47 2.0 1.3 1.6 1.5 1.5

# 1z X B 1.2 1.0 0.9 1.2 1.1
X 2z N QE K B Aq 347 1.1 1.2 1.1 1.1 1.1

X 2 B = B 1.1 1.0 1.0 1.1 1.1
EIENIINEGE % B AA4 AB49 0.5 0.7 | <0.5 | <0.5 | <0.5

1L ES B oAq 1.3 1.1 0.8 1.4 0.9

Ll A H B A4 0.7 0.7 0.7 0.5 0.7
=== 1 i v =5 i i B oAq #B49 0.6 0.9 0.7 0.8 0.8

iR e B oAq 0.7 0.8 0.8 0.7 0.6

i B )il B A4 0.5 0.9 0.7 0.8 0.9
[ TIPS R H B AD w351 1.8 1.2 0.8 1.1 0.7

& = B AD " 2.3 1.4 0.9 1.3 0.9
B B X % B BAa B51 (E22) 1.3 1.2 1.0 1.1 0.8
M E RS - EERTERA] AA fB52 (E22) 1.0 1.3 1.3 1.3 1.0
RS I Jei B A4 B52 (FE7, F22) 1.5 1.1 1.3 0.6 1.2
X B = J B BO 852 (FE£22) 1.8 2.3 2.9 1.6 2.2
= B ER= £ B AA4 AB52 0.7 0.9 0.9 0.8 | <0.5
SRR AL & B oAq 852 (<E7) 1.0 1.1 1.0 1.2 0.7
- L & B AA4 AB52 0.5 0.5 0.8 0.6 | <0.5
H &’ I B A4 F7(F22) 1.0 0.7 1.0 0.6 0.6
B El O EF H B A4 7 0.8 0.7 1.0 0.9 | <0.5
& ME: H B A4 F7(F22) 1.1 1.1 1.1 0.6 0.8
X f Jufi i B A4 F7(F22) 1.7 1.3 1.4 1.0 1.0
A s = Eoi B A4 F7(F22) 1.8 1.6 1.8 1.4 1.1
x @ A = 1B B A4 F7(F22) 1.3 1.3 1.7 1.3 1.2
MR JIE 4] B A4 7 0.8 0.8 0.6 | <0.5 | 0.5
A £t ® X B A4 7 0.8 0.5 | <0.5 | <0.5 | <0.5
= B 2 i B A4 7 0.8 0.7 0.7 0.6 0.8
£ % E ER B A4 7 1.7 0.8 1.0 0.9 0.9
NI M il B A4 7 1.6 1.8 1.6 1.4 1.3
E JI1] /I El B A4 7 1.1 1.4 1.1 1.0 1.1
£ & £ & B A4 7 0.6 0.7 0.7 0.6 0.7
% MES = B A4 7 1.0 0.8 0.8 | <0.5 | <0.5
= = JIl B A4 7 0.9 0.6 0.5 | <0.5 | <0.5
F & 2 )48 S B A4 7 1.1 1.2 1.2 0.8 0.8
@ B JujE — @ @ Nl 4B Aa 7 0.7 1.3 0.8 0.7 0.6
X F U= u] B AD F7 1.5 1.3 1.9 1.8 1.0
# B JIl B A4 7 1.2 1.6 0.8 0.8 0.9
F MmE: JIl B A4 7 1.0 1.0 0.6 | <0.5 | 0.6
A A= 1B B A4 F7(F22) 0.9 1.2 0.6 0.6 0.6
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(BfL mg/L)

FHRHTIEH = . BE BRIETEEE ERRR (FE)

K B % BREERE ER 2 2
. El 5T B - 0.003 0.003
x . N M = B EWBA F21 0.004 0.004
£ )1 £ (DN F £ B E£mAqa F£22 - 0. 001
£ ) £ QE A B £mB4 F£22 - 0.003
BT R ()| X B £®B4 F£22 - 0.003
HEIN TR Q= Al B X£9B4 22 - 0.010
i 3 B 0.004 0. 004
. ER /= X ¥ - 0.004 0. 004
AT RS x = EMBA F21 0004 0006
A Z N @ = B 0. 005 0. 004

H Bl Lk #El*x F B EMAA 22 - 0. 001
T E B - 0. 004
A A M B - 0. 002
mEITRE = 3 B E£mBa F22 - 0. 002
K £ B - 0.003
B )| & - 0. 005

GI) 1 EMEICE T 2ERTENETYT,

2 BT, RERECHESLTLWELWLDTY,

3 KEBDRFEELEDTMEE, FEKEADI A TORBEELERICTEVWTHESLTWSEHAE, ERELT

WET
4 {5ESE
1 :

S5 #INERMEV®).

o

BOADARBFIUTDELEYTY,
KEEAEERRICEVTELITER

EREOISICLIVERBEESNKETY,

FNTROKRCQ). ARINER. BRINTRIEFR22F12A288 1+ AR FF




